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X � Y
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123242 55 676 89:; 8;<= >?
X = [45, 44, 40, 37, 34, 32, 29, 26, 23, 19]

Y = [54, 64, 30, 25, 34, 17, 11, 58, 43, 49]

123242 55 6@ 6 8= >A:; B CDE:F
X = [45, 42, 41, 38, 35, 32, 29, 25, 21, 18]

Y = [53, 48, 63, 25, 36, 17, 11, 30, 59, 42]

123242 55 6G 6 H IJ KCDLMC 8;;C
X = [46, 42, 40, 38, 35, 30, 27, 25, 22, 18]

Y = [54, 48, 62, 42, 18, 23, 12, 58, 31, 35]

123242 55 65 6 HNDLMC O MK>;:P
X = [47, 43, 41, 37, 34, 32, 29, 25, 22, 19]

Y = [59, 42, 31, 25, 52, 18, 11, 37, 49, 63]

123242 55 6Q 6 R:DSL= LM 8J >DEC;<=
X = [46, 42, 41, 37, 35, 31, 27, 24, 22, 20]

Y = [58, 49, 53, 43, 25, 12, 16, 29, 37, 62]

123242 55 6T 6 R LJU;LM V:= :JJ
X = [46, 44, 39, 37, 33, 32, 28, 24, 22, 19]

Y = [57, 53, 48, 64, 30, 23, 12, 42, 35, 15]

123242 55 6W6 X= >YDL Z C;::J
X = [47, 43, 41, 38, 33, 32, 28, 24, 22, 19]

Y = [58, 35, 53, 42, 24, 17, 12, 31, 48, 63]

123242 55 6[ 6 O=F CDLM Z C;:JC
X = [46, 42, 41, 38, 35, 32, 28, 24, 22, 19]

Y = [53, 63, 58, 31, 25, 11, 43, 35, 49, 19]

123242 55 6\ 6 ]C^C= >;DLM _ MC;
X = [46, 42, 40, 37, 35, 32, 28, 24, 22, 20]

Y = [58, 49, 53, 29, 36, 12, 17, 63, 43, 25]

123242 55 67` 6 B CJCK:; Z C;::J
X = [46, 43, 40, 37, 35, 30, 28, 25, 21, 19]

Y = [59, 52, 48, 44, 25, 19, 11, 29, 36, 63]

123242 55 6776 B C=SN;LM 8;SL;
X = [46, 43, 40, 37, 35, 31, 29, 26, 23, 19]

Y = [58, 49, 31, 25, 34, 12, 43, 63, 54, 19]

123242 55 67@ 6 B C^F ISLM R CJ >;S:;
X = [46, 42, 40, 36, 33, 31, 29, 26, 23, 19]

Y = [59, 48, 63, 43, 22, 18, 12, 28, 35, 53]

123242 55 67G 6 B >J >aDL b CM>J
X = [46, 43, 41, 37, 34, 31, 29, 26, 23, 20]

Y = [59, 54, 49, 25, 36, 17, 12, 31, 43, 64]

123242 55 675 6 B L^CF >< 8J:
X = [47, 43, 41, 37, 33, 32, 29, 26, 22, 19]

Y = [59, 53, 44, 24, 18, 47, 63, 10, 30, 36]
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123242 55 67Q 6 �:L;LM b CM>J
X = [46, 44, 39, 38, 34, 31, 28, 25, 22, 18]

Y = [54, 64, 30, 57, 17, 24, 48, 13, 35, 42]

123242 55 67T 6 �LDLJ LM V L;ESC;S:;
X = [47, 44, 40, 37, 35, 30, 28, 25, 22, 19]

Y = [59, 53, 63, 31, 23, 12, 18, 37, 43, 49]

123242 55 67W6 � L^JLM 8J >DEC;<=
X = [47, 43, 41, 37, 35, 32, 29, 26, 23, 20]

Y = [59, 64, 49, 23, 36, 11, 43, 29, 54, 18]

123242 55 67[ 6 � LM:DLM �SC;:EJ CM
X = [46, 42, 41, 37, 34, 31, 28, 25, 22, 19]

Y = [54, 47, 36, 63, 24, 16, 12, 30, 58, 44]


